

Q1

$$\begin{aligned} & \int_0^1 \frac{4t^3 - 2t^2 + 3t - 1}{2t^2 + 1} dt \\ &= \int_0^1 \frac{4t^3 - 2t^2 + 3t - 1}{2t^2 + 1} dt \\ &= \int_0^1 \frac{4t^3 + 3t - 2t^2 - 1}{2t^2 + 1} dt \\ &= \int_0^1 \frac{4t^3 + 3t - 2t^2 - 1}{2t^2 + 1} dt \\ &= \int_0^1 \frac{t(4t^2 + 3) - (2t^2 + 1)}{2t^2 + 1} dt \\ &= \int_0^1 \frac{t(4t^2 + 3)}{2t^2 + 1} dt - \int_0^1 \frac{2t^2 + 1}{2t^2 + 1} dt \\ &= \int_0^1 \frac{t(4t^2 + 3)}{2t^2 + 1} dt - \int_0^1 1 dt \\ &= \int_0^1 \frac{t(4t^2 + 3)}{2t^2 + 1} dt - [t]_0^1 \\ &= \int_0^1 \frac{t(4t^2 + 3)}{2t^2 + 1} dt - 1 \end{aligned}$$

Now

$$\begin{aligned} \text{let } 2t^2 + 1 &= y & \Rightarrow 2t^2 + 1 &= y \\ \text{As } t &\rightarrow \text{line } y=3 & 2t^2 &= y-1 \\ t &\rightarrow 0 \text{ i.e. } y=1 & 4t^2 &= 2y-2 \end{aligned}$$

Now

$$4t = \frac{dy}{dt} \quad 4t^2 + 3 = 2y + 1$$

$$\Rightarrow \text{alt} = dy/dx$$

$$\Rightarrow \int_1^3 \frac{2y+1}{y} dy \quad ; \quad dy/dx = 1$$

$$\Rightarrow \int_1^3 \frac{2y+1}{y} dy$$

$$\Rightarrow \frac{1}{y} \left[\int_1^3 \frac{2y dy}{y} + \int_1^3 \frac{1}{y} dy \right] = 1$$

$$\Rightarrow \frac{1}{y} \left[\int_1^3 2 dy + \int_1^3 \frac{1}{y} dy \right] = 1$$

$$\Rightarrow \frac{1}{y} \left[2y \Big|_1^3 + 1 \ln y \Big|_1^3 \right] = 1$$

$$\Rightarrow \frac{1}{y} \left[2(3) - 2(1) + \ln(3) - \ln(1) \right] = 1$$

$$\Rightarrow \frac{1}{y} \left[6 - 2 + 1.0986 \right] = 1$$

$$\Rightarrow \frac{1}{y} \left[5.0986 \right] = 1$$

$$\Rightarrow 1.27465 = 1$$

$$\Rightarrow 0.2746 \text{ Ans}$$

$$Q2 \quad \int_2^3 t \sin t^2 dt$$

$$\text{sol} \quad \text{let } t^2 = y$$

∴ wrt t^2

$$2t = \frac{dy}{dt}$$

$$dt = \frac{dy}{2t}$$

Now

$$\text{As } t \rightarrow 3 \text{ then } y = 9$$

$$\text{As } t \rightarrow 2 \text{ then } y = 4$$

$$\text{sol} = \int_2^3 t \sin t^2 dt = \int_4^9 t \sin dy / t$$

$$= \int_4^9 \sin y dy$$

$$= -(\cos y) \Big|_4^9$$

$$= -[\cos(9) - \cos(4)]$$

$$= -[0.9876 - 0.9175]$$

$$= -(-0.00987)$$

$$= +0.00987 \text{ Ans.}$$